KEYLINE

Where 'T' equals the single Tokhromaratio used to proportion the length and 'a' equals the
chosen length of the initial line.

Expression: 7a =/
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Note. For the use of Tokhromarefinements, see below.

KEYAREA

Where 'T' equals the single 7okhromaratio used to proportion the length and 'w' equals the chosen
width of the area.

w Expression: 7w =/

Examples with 7okhromarefinement when multiplying: 0.989/1/1.03.

- 168 : 110 T x 30 mm = 45.8 mm
30
- 47 mm chosen between: 45.3-47.2 (0.989-1.03)
47
o 168 : 110 T x 3500 mm = 5345.5 mm
3500
- 5500 mm chosen between: 5286.7-5505.9 (0.989-1.03)
5500





